
EUREKA
SLIM

Technical Specifications



2

Product Overview

Floor to Flat Ceiling Floor to Wall

Wall to Wall Floor to Sloping Ceiling

Products Required for a Single Post:

Products Required for a Single Post: Products Required for a Single Post:

•	 x 1 Aluminium profile bar, cut to measured 
length of vertical height requirements

•	 x 1 Wall Connector which includes both a 
corner joint and a wall plate

•	 Discard corner joint and only use wall plate

•	 x 1 Adjustable Leveling Leg 

•	 x 1 Aluminium profile bar cut into three 
measured lengths:

	 a) x 1 vertical
	 b) x 2 horizontal

•	 x 2 Wall Connector which includes both a 
corner joint and a wall plate

Application: Room Dividers, Bookshelves, 
Feature Walls, Closets

Products Required for a Single Post:

•	 x 1 Aluminium profile bar cut into two 
measured lengths:

     	 a) vertical
      	 b) horizontal

•	 x 1 Wall Connector which includes both a 
corner joint and a wall plate

•	 x 1 Adjustable Leveling Leg

Application: Closets, Shelving, Entertainment 
Units, Offices, Desks.

•	 x 1 Aluminium profile bar, cut to measured 
length of vertical height requirements

•	 x 1 Angled Ceiling Bracket    

•	 x 1 Adjustable Leveling Leg 

Application: Room Dividers, Closets, Under 
Stair Storage, Loft Conversions

Application: Bookshelves, Offices, Desks

Example Installation Applications



3

Installation Measurements
for SLIM Aluminium Pro�le Bars

Floor to Back Wall Application

Adds 24mm to depth
Adds 7.5mm to height

Adds 11mm to height Adds 11mm to height

Floor to Flat Ceiling Application

Adds 17mm to height

Floor to Wall Example Measurements

The Horizontal Bar is 300mm 
long. After attaching the Corner Joint and 
Wall Joint  it is 324mm long.

The Vertical Bar was originally 600mm high, 
but once the Corner Joint and 

Adjustable Foot are attached, it is 
now 618.5mm high.

Floor to Flat Ceiling Example Measurements

The Vertical Bar was originally 600mm long, 
but once the Wall Connector and 

Adjustable Foot are attached, it is 
now 628mm high.

Floor to Back Wall Application Floor to Flat Ceiling Application

Example of Measurements for Installation of Aluminum Profile Bars

Floor to Back Wall Example Measurements

The Horizontal Bar is cut 300mm long. After fixing the corner joint 
and wall connector, it becomes 324mm.

The Vertical Bar was original cut to 600mm height but once the 
corner joint and adjustable foot leveler are attached, it becomes 
618.5mm high.

The foot can be adjusted to a maximum of 15mm, providing 
range of adjustment from 618.5 to 633.5mm

Floor to Back Wall Maximum Height

The profile bars are 3000mm long. Adding the corner joint and 
adjustable leg leveller, gives a maximum height of 3018.5mm. 
With range of adjustment from 3018.5 to 3033.5mm

Floor to Flat Ceiling Example Measurements

The Vertical Bar was original cut to 600mm height but once 
the wall connector and adjustable foot leveler are attached, it 

becomes 628mm high.

The foot can be adjusted to a maximum of 15mm, providing 
range of adjustment from 628 to 643mm

Floor to Flat Ceiling Maximum Height

The profile bars are 3000mm long. Adding the wall connector 
and adjustable leg leveller, gives a maximum height of 

3028mm. With range of adjustment from 3028 to 3043mm

Product Overview



4

A
Anodized Aluminum 035-3520-AN

Matte Black 035-3520-MB

Eureka SLIM Aluminum Bar Profiles (3 metres) 
Part#Item Description

A
Anodized Aluminum 035-3521-AN

Matte Black 035-3521-MB

Eureka SLIM Flat Shelf Holder

Item Description Part#

A
Anodized Aluminum 035-3522-AN

Matte Black 035-3522-MB

Eureka SLIM Top Mount Bracket for Glass or Cabinets

Part#Item Description

Anodized Aluminum 035-3530-AN

Matte Black 035-3530-MB

Eureka SLIM Angled Ceiling Bracket  

Part#Item Description

Anodized Aluminum 035-3524-AN

Matte Black 035-3524-MB

Eureka SLIM Wall Connector and Corner Joint Bracket

Part#Item Description

Anodized Aluminum 035-3532-AN

Matte Black 035-3532-MB

Eureka SLIM Wall Connector Support Bracket
Part#Item Description

Anodized Aluminum 035-3428-AN

Matte Black 035-3428-MB

Eureka SLIM Angled Holder for Wooden Shelves 

Part#Item Description

Anodized Aluminum 035-3523-AN

Matte Black 035-3523-MB

Eureka SLIM Adjustable Leveling Legs
Part#Item Description

Anodized Aluminum 035-3529-AN

Matte Black 035-3529-MB

Eureka SLIM Closet Rod Holder 

Part#Item Description

3mm Hex/Allen Key MAR-THEX-3MM

Marathon T-Handle Tool for Installation/Adjustment

Part#Item Description

Product Overview



5

53

16

16

11

53

16.5
0.5

7.5

7

Features:

•	 Dimensions: 16mm (W) x 52.77mm (D) x 3000mm (L)
      
•	 Two Finishes:  Aluminium Anodized and Matte Black

•	 Reversible Profile with two front facing options: 
concave or convex

•	 Profile provides high load capacity: 30kg (66 lbs) when 
pair of brackets are fitted to both right and left sides

•	 Easy to cut to length with only straight cuts required

•	 Accessories can be fixed to channel edge with 3mm 
allen key hex screw

Aluminium Bar Profile Adjustable Leveling Leg Wall Connector and Corner Joint Bracket

Features:

•	 Comes with x 1 foot bracket , x 1 self threading screw, 
& x 1 adjustable leveling leg

•	 Slides into and connects to base of aluminium profile

•	 Adds 11mm to height of veritcal bar once installed 
(does not include adjustment height range)

•	 Leg can be adjusted by max 15mm in length 

Features:

•	 Comes with x 1 corner joint & x 1 wall connection

•	 Slides and connects to aluminium profile with ease      

•	 Adds 24mm to the length of the horizontal bar once 
installed

•	 Adds 7.5mm to the height of the vertical bar once 
installed

•	 Profile attaches to wall connector by sliding down onto 
bracket and locking in place a small set screw

Product Overview



6

Product Overview

16.5

0.5

128

160 22

22

Features:

•	 Corner Joint and Wall Connector can also be used on 
flat ceilings

•	 Discard the Corner Joint and directly connect the Wall 
Connector into vertical bar profile and fix to ceiling

•	 Adds 17mm to length of vertical bar profile 

     

Installation on Flat Ceilings with the  
Wall Connector and Corner Joint Bracket Angled Ceiling Bracket Flat Shelf Holder

Features:

•	 Comes with x 1 ceiling adapter x 1 fixing kit - 3 x m4 
screws, x 1 self threading screw, & ceiling anchors

•	 Allows for the profile to be attached to a sloping 
ceiling with an angle from 0 degrees to 45 degrees

Please note: as the angle changes, the profile cut length 
may vary. Careful measurements and a practical trial may 
be necessary. Plan ahead and use the Adjustable Leveling 
Feet to fill the height gap.

Features:

•	 Supplied as a pair for left and right sides
      
•	 Attached to channel on aluminium profile

•	 Suitable to attach flat shelves or cabinets

•	 Top Mount Bracket required for glass shelves

•	 Top Mount Bracket suggested for pullout drawers and 
heavier cabinets depending upon expected load

      



7

Product Overview

53
19

25

150

22

30 33

53

15

10

12.5

Features:

•	 Comes with x 1 bracket, 2 protective bumper inserts

•	 Required for glass shelves

•	 Suggested for pullout drawers or heavier cabinets 
based upon expected load

•	 Easily adjustable for any thickness of glass or cabinets       

Top Mount Bracket Angled Shelf Holder Closet Rod Holder

Features:

•	 Allows for full 360° adjustment in increments of 15°

•	 Designed for wooden shelves only

•	 Perfect to create shoe racks or magazine displays

Features:

•	 Suitable for Oval 15x30mm Closet Rods

•	 Fully adjustable to any height

•	 Cut your closet rod 26mm (2 x 13mm) less than the 
total horizontal length to fit between two holders



8

Technical Specifications

A
Anodized Aluminum 035-3521-AN

Matte Black 035-3521-MB

Eureka SLIM Flat Shelf Holder

Item Description Part#

1. Insert anti-scratch     on its seat. 
2. Fasten the shelf holder      with      with screws      on the   
    vertical style after setting them just over the shelf. 
3. Make sure the two shelf holder      and      are completely 
    closed against each other without opening. 
4. Finally mount the shelf on the shelf holder      and            
   and fix it with screws. 

E
A B F

A B

A B
G

A Metal Shelf Holder, Left front version

B

A

G

G

B Metal Shelf Holder, Right back version

E

F

G

Anti-scratch plastic plates

2 Hexagon socket head cap screws

4 Wood screws Ø3.5

Important Information*
Left and Right version included with purchase, left and right 
installation are similar.

E
F

NO YES

Flat Shelf Holder Installation



9

Technical Specifications

A
Anodized Aluminum 035-3522-AN

Matte Black 035-3522-MB

Eureka SLIM Top Mount Bracket for Glass or Cabinets

Part#Item Description

1. Insert anti-scratch plate      on its seat. 
2. Fasten the clamps      with      with screws      on the 
    vertical style after setting them just over the shelf 
3. Make sure the two clamps      and      are completely closed 
    against each other without opening. 
4. Insert the transparent plastic bumper      into the proper 

    holes of clamps      and  

F
A B G

A B

E

A Front left bracket clamp

B Back left bracket clamp

E

F

G

Plastic transparent bumpers

Anti-scratch plastic plates

Hexagon socket head cap screw M4 x 25mm

Important Information*
Left and Right version included with purchase, left and right 
installation are similar.

NO YES

G

A

F

B

A B

E

Top Mount Bracket for Glass or Cabinets Installation



10

Technical Specifications

Anodized Aluminum 035-3523-AN

Matte Black 035-3523-MB

Eureka SLIM Adjustable Leveling Legs
Part#Item Description

1. Insert anti-scratch     on its seat. 
2. Fasten the shelf holder      with      with screws      on the
    vertical style after setting them just over the shelf 
3. Make sure the two shelf holder      and      are completely
    closed against each other without opening. 

4. Finally mount the shelf on the shelf holder      and       
   and fix it with screws 

E
A B F

A B

A B

A x 1 Slim 3m metal profile 

C

A

D B

B x 1 Metal intermediate foot

C

D

Self-tapping screws  Ø5.5

Adjustable Leveling Leg

Adjustable Leveling Leg Installation



11

Technical Specifications

1. Fix the metal intermediate piece      to the horizontal style
         with screw 
2. Drill the wall with a 08 bit and insert the wall plug  
3. Fix the wall foot      to the ceiling the screw
4. Connect the metal intermediate piece      with the wall foot
         and fix them together with screw
5. Fix the support      to the intermediate profile      with the 
    screw      
6. Put the vertical profile between the support      and the
    clamp     
7. Close the vertical profile with the screws      

E
G D G

A
B C

A x1 Drywall anchor plugs Ø8**Note: The Wall Connector Support Bracket installs 
together with the Wall Connector and Corner Joint 
Kit. You must order both products to install correctly.

These installation instructions show assembly 
pieces from both kits combined together.

B x1 Metal wall foot

C

D

E

x1 Wood screws Ø5

x1 Self tapping screw Ø5.5 x 50mm 

x1 Metal intermediate plate

AH

G

J

AB

I

Wall Connector Support Bracket Installation

Anodized Aluminum 035-3532-AN

Matte Black 035-3532-MB

Eureka SLIM Wall Connector Support Bracket
Part#Item Description

B

E

D

C

D

F

F

G

H

x1 Hexagon Socket set screw chamfered M4

x1 Slim bar profile (cut to size) 

x1 Support bracket 

x1 Metal ClampI

x2 Screws M4 x 8mmJ

E

H G
D

H
I

J

Anodized Aluminum 035-3524-AN

Matte Black 035-3524-MB

Eureka SLIM Wall Connector and Corner Joint Bracket

Part#Item Description



12

Technical Specifications

Anodized Aluminum 035-3428-AN

Matte Black 035-3428-MB

Eureka SLIM Angled Shelf Holder
Part#Item Description

1. Insert brass cylinder      in place between the two of the
    shelf bracks.
2. Insert anti-scratch plate      between the pair of shelf 
    brackets  
3. Fasten brackets     together using 2 of the M4 x 25mm 
    screws      on either side of the brackets making sure they
    are clamped tightly together and positioned at the right 
    height
4. Place the shelf hanger      onto the round disc on the
    bracks and adjust required inlcine
5. Fasten the shelf hanger      with x 2 countersunk M4
    screws
6. Set the wooden board over the shelf hanger      fixing the
    board to the hanger through the      allocated screw holes

C

A

B

F

A
B

B

A x 4 Shelf brackets 

C

A

A

B x 1 Shelf hangers

C

D

x 2 Brass cylinders 

x 2 Anti scratch plates

Angled Shelf Holder Installation

E

F

F

B
D

E

F

F

x 4 Countersunk screws M4 x 10mm 

x 4 M4 x 25mm screws

D

A



13

Technical Specifications

1. Fix the metal intermediate piece      to the horizontal style
         with screw 
2. Drill the wall with a Ø8 bit and insert the anchor  
3. Fix the wall foot      to the ceiling the screw
4. Connect the metal intermediate piece      with the wall foot
         and fix them together with screw
5. Fix the support      to the intermediate profile      with the 
    screw      
6. Put the vertical profile between the support      and the
    clamp     
7. Close the vertical profile with the screws      

E
G D G

A
B C

A x1 Drywall Anchor Ø8mm

B x1 Metal Wall Foot Plate

C

D

E

x1 Wood screw Ø5mm

x1 Self tapping screw Ø5.5 x 50mm 

x1 Metal Intermediate Plate

AH

G

J

AB

I

Wall Connector and Corner Joint Installation

Anodized Aluminum 035-3524-AN

Matte Black 035-3524-MB

Eureka SLIM Wall Connector and Corner Joint Bracket
Part#Item Description

B

E

D

C

D

F

F

G

H

x1 Hexagon Socket set screw chamfered M4

x1 Bar profile 

x1 90 Degree support bracket

x1 90 Degree metal connectorI

x2 Screws M4 x 8mmJ

E

H G
D

H
I

J



14

Technical Specifications

1. Fix the metal cap       to the vertical style       with the 
    screw      interposing between the two components the 
    ferrule     and the sphere     
2. Drill the wall with a Ø8 bit and insert the anchor     
3. Fix the wall plate      to the ceiling with the screw
4. Fix the components      -    -     -     coupling the ferule    
    with the wall support     and fix them together with three
    screws 

G I

E D

B

A x 1 Drywall Anchor Ø8mm

G

A

B x 1 Wood screw Ø5 x 60mm

C

D

x 1 Thread screw Ø5.5x50mm

x 1 Sphere

Angled Ceiling Bracket Installtion

Anodized Aluminum 035-3530-AN

Matte Black 035-3530-MB

Eureka SLIM Angled Ceiling Bracket  

Part#Item Description

E x 1 Ferrule

F x 1 Wall Plate

G

H

x 1 Metal Cap

x 3 Screws M4 x 12mm

A

BF

C

I x 1 Vertical bar profile 

A

I G E D

F

B

C

D

E

I

H



15

1. Insert anti-scratch plate     on its seat. 
2. Fasten the supports      with      with screws      on the 
    vertical style after setting them just over the pipe hangers
3. Make sure the two supports      and      are completely 
    closed against each other without opening. 
4. mount the pipe hangers on the supports      and      and fix
    them with screws 

D
A B C

A B

A x 1 Back right clamp support

B x 1 Front left clamp support

C

D

x 2 Hexagon Socket head Screw M4 x 25mm

x 2 Anti-scratch plastic plates

Important Information*
Left and Right version included with purchase, left and right 
installation are similar.

NO YES

A B

Closet Rod Holder Installation

Technical Specifications

B

C

D

Anodized Aluminum 035-3529-AN

Matte Black 035-3529-MB

Eureka SLIM Closet Rod Holder 

Part#Item Description

A

C



Quality . Innovation . Service

info@marathonhardware.com 
         
         800.840.1228


